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U15-10 adiabaticky reaktor, e.b.
A = CH30H, B = HCHO, C = H2

[> restart:

KJ
= =31 = 50e—3: = —3:#
> Cp_A:=7le-3:Cp_B:= 50e-3:Cp_C:= 29e-3 ol-K

[> hF_A :=-201.3: hF_B:=-116: hF_C := O:#—k‘L
mol

th_25:=—1-hF_A+1-hF_B+1‘hF_C;#’—nk—({—I
dhR_25 = 85.3

dCpR>=-1-Cp A+1-Cp_B+1-Cp.C #—N

i E: o el mol-K
dCpR = 0.008

nAQ = 1:# mol
ksi:= 0.25 : # mol (r.0.)
Tin:= 675:# C
ebil := nA0-Cp_A- (Tin— Tout) = (dhR_25+ dCpR- (Tout — 25) ) - ksf,
ebil := 47.925 —0.071 Tout=21.27500 + 0.00200 Tout
Tout := solve(ebil); # C
Tout := 365.0684932

Vystupni teplota z reaktoru je Tout (365 C)

(1)

(2)

(3

4



